Unit 3 NotGes

Algebrdie l-inedr Equabious

3x+5= L(%+4)

ditch ZR+5 = R+ 24 € Be careful

the 3x - 2% - 2%
_ 5= 3%+ 24
ditch the 24 _24 _24
-19=3%
ditch the 3 ﬂ=3_"
3 2
=42
3 = R

Gentabtive Schedyle

Day Date Topic Assignment
1 Tues. 10/14 Two-Step Equations Video #3.2 with Notes: Equations that Involve
Fri. 10/15 P.S. #3.1 Combining Like Terms and Distributing
Video #3.3 with Notes
2 Thurs. 10/16 P.S. #3.2
Equations with Variables on Both Sides
Fri. 10/17 Video #3.4 with Notes
3 P.S. #3.3
Mon. 10/20 Multi-Step Equations
Video #3.5 with Notes
4 Tues. 10/21 P.S. #3.4
Applications of Word Problems
Wed. 10/22 Quiz
5 Finish all problem sets and corrections
Thurs. 10/23 P.S. #3.5
Special Cases of Watch Video #3.7 with Notes
6 Fri. 10/24
Equations Isolating Variables
Mon. 10/27
7 Finish up P.S. #3.6/3.7 Finish up P.S. #3.6/3.7
Tues. 10/28
8 Wed. 10/29 Activity Review for Test #3
Thurs. 10/30
9 Test #3 Video #4.1 with Notes
Fri. 10/31

Nawme:




Solving Equabions Flouschart

Solving Linear Equations Flowchart
fre there parentheses?

v \ H\E fee oz

o 5 f gﬁmms %i\ ulh' g

¥ sigh by o o min) genominddoc
Can you combine |ike terms (EXACTLY thi same variables) on elfher sn:ls aF the equation?

v vES

NO i

» v

Are there variables on both sides of fhe¢qunﬁoﬂ?
¥ YES

N ‘

v v

Is there a number (constant) not attached t£ the variable an the same side as the variable?

YES
MO

¥

Is there a number attached to the mr-iuhlni
l r'i&
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Unit 3 Notes — Math 8 3
Algebraic Linear Equations

Notes 3.1 - Guso Step Equaltions

When we want to Spl\e g%uat(ms , we always want to get x by

on one side.

So we do inverse operations:

addition: sultaction subtraction: _0ddifion
multiplication: (1NISign division: (MUlthiplication
Class examples:
. 2) 4.7+0.25x =6.2 3) -4-a=5
L) 4-o--1 - 4] -7 1 4y
A 0.25¢-15 a-4
5. =5="5"5 025 _02° a——f;
X=a5

Notes 3.2 - Solving Equations usith l-ike
Gerws cavd DisGribging

Like Terms: S (I | t
Ex: 5 and -8x2 Non-ex. A+ ax3 NON-ex: S,y

N v/

Combine the foIIowing.Iike terms:

1) 2+3y-2x+4x-2y
— Rer  (eRe,

‘5 +&><‘f

Distribute:

‘5w+|‘5§




4 Ut3Nt MthS
Algebrai ar Equatio

Solve the following equations by first , then

o~
5) 7(a-2)+5+2a=-18

Jo-1445+a=-18
9&72(=’I8
q +9
Ja=-9

6.) 4x-32%+8)m-12 Check: TEMDAS
— - - 4+>< - + )= 'IA
HX - X ="1x S +9)-

=V ’+ -3( ___\—8): -2

+ M \;&H ﬂﬂo}S(j‘hrlg
%’Z 3 - +[2=-13
CX:—Q N —la=-1v

N/

7.) 34=9-2x4+5

BH=14-2x

-4 -4

s e
90 = =
—a -

—10=X



Unit 3 Notes — Math 8 5
Algebraic Linear Equations

Notes 3.3 - Equabions ysith Variables on Both Sides

Solve, the following equations:

2) 2Zm-2=6m-4

3.) E—In=én—1
+n +1
n (Dﬂ
0= =n-I
A +1
L lo=2n Lo
Y =aNn



6 Unit 3 Notes — Math 8
Algebraic Linear Equations

Notes 3.4 - MylBi-SGep Equabions

Steps to solving multi-step equations.

1) - LooK@d +he |

2.) like terms. fﬂONdﬂ(M’f oN Pg . a |{\§|€(Ld

3.) Getthe on one side and the on the other.
4.)

1) $%+3)+3x = 2x-12+3x
Sx415 + 23X = % — [ H3X

WA A ND= -1
- 5% —PX
N A B=-1A
-5 -5
K== Al )
=5
X=-
23RN TR
2) %(—4+6x);%x+§(x+9) 249 g
. )

3 /3 +3><:)_%_g %X§’®3
o +9%x= X+ 22X+ 1§

-<O+O)X:3X + 1%
—(+ Y =18

b
v
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»Ox+;62%4 (6]

MX+XZM@
A =410 130
| ot
. 40 —5s
a) %f‘zﬁfl s

@Zx 2+x (O é/()
2 (& (2@ ?Q@ﬂ ) @Hs

kb( (- 3><-—a% A

Y= o= -2
t+lo +06

[ X= —ng




4 Unit 2 Notes — Algebra Enriched
Algebraic Linear Equations

Notes 2.2 - Applicabions of Livedr Equeabions

Steps to Solving Word Problems
1.) Underline or highlight all given information.
2.) Determine what you want to find out.
’5./)— Draw a picture if you need to.
L4.) Write let statements. Wlf: How many things do I not know?*
5.) Write your equation.
6.) Solve it.
7.) Check it.

*Ask yourself: Does this answer make sense?

1.) Cassidy has a brother who is 3 years younger than she is. The sum of their ages is 23. How
old are Cassidy and her brother? ( 4-\

Let (assidys age=»=r>
lex Wos agg= X-3=R-3 Y 4+X-> =23
=10 O%-2=23

AX= o
X= =

Coii\’dg s 13 urs sld and her brother

(S 10 Y ola



Unit 2 Notes — Algebra Enriched
Algebraic Linear Equations

2.) Jared has pennies and dimes in his pocket. The number of pennies is three less than two
times the number of dimes he has in his pocket. If he has a total of 46 cents, how many

pennies and dimes does he have in his pocket?

3.) The greater of 2 numbers is 1 less than 3 times the smaller. If three times the greater number

is 5 more than 8 times the smaller, find the numbers.
[k dhe Swdller # =x = ?

bot e greater & = 5>< = 3(Q)-| = -1=23

Al s

4.) When two opposite sides of a square are increased by 3 cm, and the other two opposite sides

are decreased by 1 cm, a rectangle with a perimeter of 40 results. Find the length of a side of

the original square.

Lot =4 side of the original square — g
¥63)

X
o Ix—

X




Consecutive Consecutive Even Integers Consecutive Odd Integers
Integers

4 L,) 5 C_

5 f" -

A

e N )
8 —+ 9

7 o+ Y b Lf C -l' L{'

5.) Find two consecutive integers whose sum is 45.
/P_\—f —

lot e (SE = X =20
Lok the A =x+1 ~23

N x4+ l= 49

o285 102433

K= X

6.) Three consecutive even integers are such that the sum of the smallest and 3 times the second

lexceeE; twice the third b@Flnd the integers. f )

Lot Mg \SE gwen int =X =10
Lot ‘he Qrd guen Wk = X+k= 99\

Lot wgrd S >%J\
Y+ (><+;1 20w+ 3%

*t o= A+ L3
Pb(+(o 9\><+4<a
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NoBes 3.6 - Nuwber of Solytions of em Equaﬂxon

Directions: For each equation, work with your partner to find the solution. If you get stuck on

one, make an educated guess as to the solution and move on to the next so you are sure to get all

three completed in the given time.

2X +4=2(x+6) 4(x-3)=6x+8
QK t = 011 - 126X+
- - X - _
/éll——-’——"(}ﬁ M
H=\ 7 - A= aAx+€
— 8‘ -
. - R0 =M
NO Dlukion = 2
- 10=X

3(x-2)=3x-6
MK=(p=23%-(p
-2X  ~3X
66

S,
Lludons

Try plugging in some values into each equation.

H(x-2)= ox+
4€10- 2) = £10)4%
(-15)= 61048

- 53=- (D48
53 -5

i
N Rt

30— Q)= 326

(‘5 9\3 3(2) -6

0= -0
38=o\/

= 19-(

Koo il



Unit 3 Notes — Math 8
1 2 Algebraic Linear Eq
Null Set:

"No Solutin

(¢ eonpky salukion w4
Symbols @ of E }
Identity: IS &S
Null Set One Solution Identity
. NO SIURON | o dution | &9
<plution s
Algebra OX+ b= X+C | Ox+b= cx+d | QXtb =0ox+b
Representation o :,L_ C.
Stz 5x+T| 3xrt=ax+ | Qx5 =8
Example
|dential
&\W‘&%/U onts, | G enc 1Y Sos
Clues to look for COQ C\@ﬁtg 6\ _gﬁ- .
diferent ook (cone (O@¥ig
consants ond constan)
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Algebraic Linear Equations

Notes 3.7 - Isclating Varidables

Standard Equation Literal Equation
Solve 2x +3 =9 for x. Solve ax + b = ¢ for x.
%ﬁ/b —pb -b I
2 _ X=C-X
oo ]
= o
For 1 -8, isolate y.
1) y+4=2x 2) y-4=2x
—2;8/4>»</>w A
Y- x4 Y=t
4.) Xx+2y=14.
- X -X -
y=-IX+)4
lo AT
_1;;{ e
B$ 'ﬁX"”}
6.) 4x-3y =24
-3y-a Hy-3y= 24
+3y +3Y
= 35-?3&"}

24




